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JRZF:=C/REF(C,1)>=(1+Z/100); {BkiEATFZ%)}

ZT1:=C>1.1*REF(C,1)-0.01 AND C<1.1*REF(C,1)+0.01 AND H=C;{10%5{=}
ZT2:=C>1.2*REF(C,1)-0.01 AND C<1.2*REF(C,1)+0.01 AND H=C;{20%5{=}
ZT:=ZT1 OR ZT2,

SBZT:=COUNT(ZT,T)=1;

ZTJG:=BARSLAST(ZT)>=2 AND BARSLAST(ZT)<=T;
SSTS:=FINANCE(42)>60;
ZGZF:=HHV(H,BARSLAST(ZT))/REF(H,BARSLAST(ZT)) < =1.1,{& = 3KIE}

BPZT:=LAST(C> = REF?L ,BARSLAST(ZT)),BARSLAST(ZT)-1,1);{C>=REF(O,BARSL
AST(ZT))AEBEKEFTERIND

JXDT2:=C>=MA(C,60) OR MA(C,5)>=MA(C,60) AND MA(C,10)>=MA(C,60)
AND MA(C,21)>=MA(C,60);{60X% J:T:T}

JXDT3:=C>=MA(C,120) OR MA(C,5)>=MA(C,120) AND
MA(C,10)>=MA(C,120) AND MA(C,21)>=MA(C,120) AND
MA(C,60)>=MA(C,120);
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JXDT4:=C>=MA(C,250) OR MA(C,5)>=MA(C,250) AND
MA(C,10)>=MA(C,250) AND MA(C,21)>=MA(C,250) AND
MA(C,120)>=MA(C,250);

JXDT:=JXDT2 OR JXDT3 OR JXDT4;
DIF:=(EMA(CLOSE,12)-EMA(CLOSE,26))>=0 OR C>=MA(C,60);
BNDZDD:=C/REF(C,1)>=0.95 AND C/REF(C,1)<=1.08;{BEXEk ABERAK}

ZTXG:JRZF AND SBZT AND ZTJG AND SSTS AND ZGZF AND BPZT AND
JXDT AND DIF,
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